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JUNIOR REHABILITATION OFFICER IN TAMILNADU GENERAL SUBORDINATE 
SERVICE – 01/04/2023 

 
1. ____ is the ability to remember the material at a later time. 

a. Retention   b. Questioning   c. Reply 
d. Answering  e. Answer not known 
______ vd;gJ xU nghUis gpd;dh; epidtpy; nfhs;tJ MFk;. 
a. jf;f itj;jy;   b. Nfs;tp Nfl;ly;  c. gjpyspj;jy; 
d. tpilaspj;jy;   e. tpil njhpatpy;iy 

 
2. The rate of change of velocity is  

a. Speed  b. Acceleration  c. Momentum 
d. Displacement e. Answer not known 
jpirNtfj;jpd; khWghL tPjk; _____________ MFk;. 
a. Ntfk;  b. KLf;fk;   c. ce;jk; 
d. ,lg;ngau;r;rp e. tpil njhpatpy;iy 

 
3. The ignition quality of diesel fuel is expressed by _____ number. 

a. Octane   b. Cetane    c. Isopentane 
d. Iodine   e. Answer not known 
Bry; vhpnghUspd; gw;witg;Gj; juj;ij _____ vz;zhf ntspg;gLj;jyhk;. 
a. Mf;Nld;   b. rPNld;    c. INrhngd;Nld; 
d. mNahbd;   e. tpil njhpatpy;iy 
 

4. A compound as hard as diamond is 
a. Silicon Carbide  b. Silicontetra Chloride  c. Silica 
d. Silico ethane  e. Answer not known 
ituk; Nghd;W kpff; fbdkhd Nrh;kk; 
a. rpypf;fhd; fhh;igL b. rpypf;fhd;nll;uh FNshiuL c. rpypf;fh 
d. rpypf;Nfh <j;Njd;  e. tpil njhpatpy;iy  

 
5. The term ‘Emasculation’ refers to 

a. Removal of flowers b. Removal of anthers  c. Removal of carpels 
d. Removal of perianth e. Answer not known 
‘,kh];FNy~d;’ vd;w nrhy; vjid Fwpg;gpLfpwJ. 
a. G+it ePf;FtJ  b. kfue;j jhs;fis ePf;FtJ c. #yfj;ij ePf;FtJ 
d. G+tpjo;fis ePf;FtJ e. tpil njhpatpy;iy 

 
6. CSIR (Council of Scientific and Industrial Research) is an autonomous body registered 

under the 
a. Registration of Societies Act of 1860 
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b. Registration of Indian Act of 1860 
c. Registration of Civil Act of 1860 
d. Registration of Developmental Act of 1860 
e. Answer not known 
CSIR (mwptpay; kw;Wk; njhopyf Ma;T kd;wk;) jd;dhl;rp mikg;ghf _____ fPo; gjpT 
nra;ag;gl;lJ. 
a. 1860-d; cila r%fr; rl;lj;jpDila gjptpd; 
b. 1860-d; cila ,e;jpar; rl;lj;jpDila gjptpd; 
c. 1860-d; cila FbAhpikr; rl;lj;jpDila gjptpd; 
d. 1860-d; cila Nkk;ghl;Lr; rl;lj;jpDila gjptpd; 
e. tpil njhpatpy;iy 

 
7. The two major components of an Ecosystem are 

a. Ecologic and Edaphic  b. Water and land  c. Abiotic and Biotic 

d. Air and Water   e. Answer not known 
#oy; kz;lyj;jpd; ,U Kf;fpaf; $Wfs; vd miof;fg;gLgit 
a. #oypay; kw;Wk; kz; fhuzpfs;    b. ePh; kw;Wk; epyk; 
c. capuw;w kw;Wk; capUs;s fhuzpfs;   d. fhw;W; kw;Wk; ePh; 
e. tpil njhpatpy;iy 

 
8. Which gas in the atmosphere saves us from the ultraviolet rays of the sun? 

a. Oxygen   b. Ozone  c. Nitrogen 
d. Carbon monoxide e. Answer not known 
tsp kz;lyj;jpy; #upadpd; GwCjhf;fjphpy; ,Ue;J ek;ik fhf;Fk; thA vJ? 
a. Mf;]p[d;   b. XNrhd;  c. iel;u[d; 
d. fhh;gd; Nkhdhf;i]L e. tpil njhpatpy;iy 
 

9. Globally wetlands are conserved with the designation of which was signed in Iran, 
1971. 
a. Ramsar sites   b. National Parks  c. Sanctuaries 
d. Mega biodiversity centers e. Answer not known 
<uhdpy;> 1971,y; ifnaOj;jplg;gl;L __________ ngaUld; <uepyq;fs; cyf mstpy; 
ghJfhf;fg;gLfpd;wd. 
a. uhk;rhu; jsq;fs;   b. Njrpa G+q;fhf;fs; c. ruzhyaq;fs; 
d. nkfh gy;Yapu; ikaq;fs; e. tpil njhpatpy;iy 
 

10. Butterflies are recognized as sensitive indicators of an environmental change and as an 
umbrella species whose targeted conservation benefits wider communities of lesser 
known, threatened species. According to the IUCN Red List categories the majority of 
the Umbrella species as being 
a. Endangered or threatened  b. Extinct  c. Least concern 
d. Data deficient and not evaluated e. Answer not known 
gl;lhk;G+r;rpfs; Rw;Wr;#oy; khw;wj;jpd; czh;jpwd; Fwpfhl;bfshfTk;> Fil ,dkhfTk; 
mq;fPfhpf;fg;gLfpd;wd. mtw;wpd; ,yf;F ghJfhg;G Fiwthf mwpag;gl;l mr;RWj;Jk; 
gl;bapypy; cs;s caphpdq;fSf;F gad; mwpf;fpwJ. IUCN rptg;Gg; gl;baypd; gb 
Fil ,dq;fspy; ngUk;ghyhdit _________ vd tifg;gLj;jg;gLfpwJ. 
a. mopAk; my;yJ mr;RWj;jy; b. mope;J NghdJ\ 
c. Fiwe;j mf;fiw   d. juT FiwghL kw;Wk; kjpg;gPL nra;ag;gltpy;iy 
e. tpil njhpatpy;iy 
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11. The average temperature of March 2022 is India’s highest temperature in the last 122 
years and it was very difficult to predict in advance. The reason behind this is 
a. Climate change  b. La-Nino  c. Abelian 
d. perihelion   e. Answer not known 
khh;r; 2022d; ruhrup ntg;gepiy fle;j 122 Mz;Lfspy; ,e;jpahtpd; mjpfgl;r 
ntg;gepiyahFk;. NkYk; ,ij Kd;$l;bNa fzpg;gJk; fbdkhf ,Ue;jJ. ,jd; 
gpd;dzpapy; cs;s fhuzk;. 
a. gUtepiy khw;wk; b. yh-epNdh   c. mNgypad; 
d. nghpN`ypad;  e. tpil njhpatpy;iy  

 
12. Assertion [A]: Caste can be defined as a closed rank status group, with a set of 

    values, beliefs and practices. 
Reason [R]:  Nowadays, though caste system has disappeared due to education, 
    occupation, status etc. to a certain extent, it exists in all group still. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true; but [R] is not correct explanation of [A]. 
c. [A] is false and [R] is true 
d. Both [A] and [R] are true 
e. Answer not known 
$w;W [A]: [hjp vd;gJ kjpg;Gtha;e;j> ek;gpf;ifAs;s> eilKiwapidf; 
   fhj;Jtuf;$ba xU tFg;gpd;> gphptpdh;fspd; nfhs;if gpbg;G 
fhuzk; [R]: eilKiw tho;f;ifapy; [hjp vd;gJ fy;tpahYk;> njhopyhYk;> gz 
   nrhj;jpd; me;j];JfspdhYk; XusT Fiwe;jhYk;> r%fj;jpy; KOikahf 
   midtiuAk; xd;wpizf;ftpy;iy. 
a. $w;W [A] rhpahdJ Mdhy; [R] jtwhdJ. 
b. $w;W [A]-Tk; [R]-k; rhpahditfs; Mdhy; fhuzk; [R] $w;W [A] f;F rhpahd tpsf;fk; 

my;y 
c. $w;W (A) jtwhdJ> kw;Wk; fhuzk; [R] rhpahdJ 
d. fhuzk;> $w;Wfs; [A] k; [R] k;> kf;fspd; kdepiyf;Nfw;wthW rhpahditNa 
e. tpil njhpatpy;iy 
 
 

13. The chairman of the first Finance Commission of India was 
a. Dr. P.V. Rajamannar  b. Shri. A.K. Chanda c. Shri. K. Santhanam 
d. Shri K.C. Neogy   e. Answer not known 
,e;jpa epjp Mizaj;jpd; Kjy; jiyth; 
a. Dr. gp.tp. uh[kd;dhh;  b. jpU. V.Nf. re;jh  c. jpU. Nf. re;jhdk; 
d. jpU. Nf.rp. epNahfp  e. tpil njhpatpy;iy 
 

14. ____ scheme is to provide health care for low income group. 
a. Van dhan    b. Life Insurance  c. New Health Insurance 
d. Ayushman Bharat  e. Answer not known 
______ jpl;lk; Fiwe;j tUtha; cs;s kf;fSf;F Rfhjhu ghJfhg;ig mspf;fpwJ. 
a. td; jd;   b. MAs; fhg;gPL  c. Gjpa Rfhjhu fhg;gPL 
d. MAs;khd; ghujk;  e. tpil njhpatpy;iy 
 

15. Largest mangrove forest region found in India is at 
a. Sundarbans   b. Pichavaram  c. Godavari – Krishna Mangrove 
d. Baratang island  e. Answer not known 
,e;jpahtpy; kpfg;nghpa rJg;G epyf;fhLfs; fhzg;gLk; gFjpahdJ 
a. Re;jutdf;fhLfs;  b. gpr;rhtuk;  c. Nfhjhthp fpU~;zh rJg;G epyk; 
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d. ghulq; jPT  e. tpil njhpatpy;iy 
 

16. The period of stagnant population occurred in 
a. 1901 – 1911  b. 1911 – 1921  c. 1921 – 1931 
d. 1901 – 1921  e. Answer not known 
kf;fs; njhifapy; Njf;f epiy Vw;gl;l fhyfl;lk; vJ? 
a. 1901 – 1911  b. 1911 – 1921  c. 1921 – 1931 
d. 1901 – 1921  e. tpil njhpatpy;iy 
 

17. In which state Bandipur Tiger reserve Located in India? 
a. Andhra Pradesh  b. Karnataka   c. Kerala 
d. Tamil Nadu  e. Answer not known 
ge;jpg;G+h; Gypfs; ruzhyak; ,e;jpahtpy; ve;j khepyj;jpy; mike;Js;sJ? 
a. Me;jpu gpuNjrk;  b. fh;ehlfh   c. Nfush 
d. jkpo;ehL   e. tpil njhpatpy;iy 
 

18. In India, ____ is located at the confluence of river Ganga and Yamuna 
a. Allahabad   b. Uttar Pradesh  c. Aurangabad 
d. Punjab   e. Answer not known 

,e;jpahtpy; fq;ifAk;> aKidAk; $Lkplj;jpy; _____ mike;Js;sJ. 
a. myfhgj;   b. cj;jpugpuNjrk;  c. mTuq;fhghj; 
d. gQ;rhg;   e. tpil njhpatpy;iy 
 

19. Where Lahaul and Spiti are located in Himalayas? 
a. Sikkim Himalayas b. Himachal Himalayas c. Kashmir Himalayas 
d. Assam Himalayas e. Answer not known 
,kakiyapy; yh`Py; kw;Wk; ];gpl;b vq;Nf mike;Js;sJ? 
a. rpf;fpk; ,kakiy  b. ,khr;ry ,kakiy c. fh~;kPh; ,kakiy 
d. m];]hk; ,kakiy e. tpil njhpatpy;iy 
 

20. The number of languages recognized by the Indian Constitution is 
a. 43  b. 22  c. 31  d. 27  e. Answer not known 
,e;jpa murpayikg;ghy; mq;fPfhpf;fg;gl;l nkhopfspd; vz;zpf;if 
a. 43  b. 22  c. 31  d. 27  e. tpil njhpatpy;iy 
 

21. The article of the constitution of India related to the right to conserve the people of 
distinct languages and culture is 
a. Article 22   b. Article 29 (1)  c. Article 31 (2) 
d. Article 32 (2)  e. Answer not known 
NtWgl;l jdpj;Jtkpf;f nkhop kw;Wk; fyhr;rhuj;ijAila kf;fspid ghJfhg;gjpy; 
njhlh;Gila ,e;jpa murpayikg;gpd; gphpT 
a. gphpT-22   b. gphpT-29 (1)  c. gphpT -31 (2) 
d. gphpT 32 (2)  e. tpil njhpatpy;iy 
 

22. Hampi is located on the banks of river 
a. Krishna   b. Godavari   c. Tungabhadra 
d. Narmada   e. Answer not known 
`k;gp ____ ejpf;fiuapy; mike;Js;sJ. 
a. fpU~;zh   b. Nfhjhthp   c. Jq;fgj;jpuh 
d. eh;kij   e. tpil njhpatpy;iy 
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23. Name the Delhi Sultan who introduced the Silver Tanka and the Copper Jital-the two 

basic coins during Sultanate period 
a. Qutb-ud-din Aibak  b. Iltumish   c. Sultana Raziya 
d. Ghiyas-Ud-Din Balban  e. Answer not known 
Ry;jhdpa Ml;rp fhyj;jpy; rpy;th; lq;fh kw;Wk; fhg;gh; [pl;lhy; Mfpa ,uz;L 
ehzaq;fisAk; mwpKfg;gLj;jpa Ry;jhdpd; ngaiuf; Fwpg;gpLf 
a. Fj;Gjpd; Ia;ngf;   b. ,y;Lkp~;   c. Ry;jhdh u]pah 
d. fpahRjpd; ghy;ghd;  e. tpil njhpatpy;iy 
 

24. Dashabodha was written by 
a. Namdev   b. Jnanesvara   c. Nimbarka 
d. Ram Das   e. Answer not known 
‘j~Nghjh’ ahuhy; vOjg;gl;lJ 
a. ehk;Njth   b. QhNd];tuh  c. epk;gh;f;fh 
d. uhk;jh];   e. tpil njhpatpy;iy 
 

25. Name the religious Guru of Shivaji 
a. Eknath   b. Varman Pandit   c. Ram Das 
d. Sur Das   e. Answer not known 
rpth[papd; Md;kPf FUthf ,Ue;jthpd; ngahpLf 
a. Vf;ehj;   b. thh;khd; gz;bl;   c. uhk; jh]; 
d. #h; jh];   e. tpil njhpatpy;iy 
 

26. The Bahmani kingdom and Vijayanagar empire clashed frequently over the territory of 
a. Madurai   b. Warrangal   c. Malabar 
d. Raichur Doab  e. Answer not known 
ghkpdp rhk;uh[;[paKk; tp[a efug; NguuRk; mbf;fb _____ epyg;gFjpf;fhf Nkhjpf; 
nfhz;ldh;. 
a. kJiu   b. thuq;fy;   c. kyghh; 
d. uhr;#h; Nlhg;  e. tpil njhpatpy;iy 
 

27. Muhammad Shah III of Bhamini Sultan’s Vizier was 
a. Humayun   b. Malik Hasan  c. Mohamed Gawan 
d. Nizam Shah  e. Answer not known 
ghkpdp Ry;jhid Nrh;e;j %d;whk; Kfkj; ~htpd; mikr;ruhf ,Ue;jth; 
a. `_khA+d;   b. khypf; `rd;  c. KfkJ fthd; 
d. eprhk; ~h   e. tpil njhpatpy;iy 
 

28. Name the Sultan of Delhi who assumed the title of Sikandar-i-Sani 
a. Qutb-din Aibak  b. Firozshah Tughlaq  c. Ala-ud-din Khilji 
d. Balban   e. Answer not known 
rpf;fe;jh; ,rhdp vd;w gl;lj;ij nfhz;l nly;yp Ry;jhdpd; ngah; 
a. Fj;GjPd; Igf;  b. ngNuh~h Jf;sf;   c. myhTjPd; fpy;[p 
d. ghy;gd;   e. tpil njhpatpy;iy 
 

29. What was the first name of the All India Court established under the Act of 1935? 
a. All India Court   b. Supreme Court of India c. Federal Court of India 
d. All India Supreme Court e. Answer not known 
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,e;jpa muR rl;lk;> 1935d; gb Njrpa mstpy; ePjpkd;wkhdJ epWtg;gl;lJ. mjd; ngah; 
ahJ? 
a. midj;jpe;jpa ePjpkd;wk;    b. ,e;jpa cr;r ePjpkd;wk;  
c. ,e;jpaf; $l;lhl;rp ePjpkd;wk;   d. midj;jpe;jpa cr;r ePjpkd;wk; 
e. tpil njhpatpy;iy 
 

30. Article 263 contemplates the establishment of an Inter-state council to  
a. effect co-ordination between the states and between centre and states. 
b. co-ordinate the planning activities of various states 
c. divide the revenues between the centre governments and the state  
d. enable development of trade 
e. Answer not known 
murpay; rl;lg; gphpT 263 khepyq;fSf;fpilNaahd FOit cUthf;fpajd; Nehf;fk; 
a. khepy muRfSf;F ,ilapYk; xd;wpa kw;Wk; khepy muRfSf;F ,ilapYk; 

typikahd xj;Jiog;gpid Vw;gLj;jp xUikg;ghl;il typAWj;j 
b. gy;NtW khepyq;fspd; jpl;lr; nrayhf;fj;ij xUq;fpizf;f 
c. kj;jpa-khepy muRfSf;F ,ilNa tUthiag; gphpj;jwpa 
d. tzpf Nkk;ghl;bw;fhf 
e. tpil njhpatpy;iy 

 
31. Consider the following: 

1. Ashok Mehta Committee 
2. LM Singhvi Committee 
3. Balwant Rai Mehta Committee 
Give the chronological sequence of above mentioned Committees. 
a. 3, 1 and 2   b. 3, 2 and 1   c. 1, 2 and 3 
d. 2, 1 and 3   e. Answer not known 
$w;Wfisf; ftdpf;f 
1. mNrhf; Nkj;jh FO 
2. LM rpq;tp FO 
3. gy;te;j;uha; Nkj;jh FO 
NkNy nfhLf;fg;gl;Ls;s FOf;fisf; fhythpirg;gLj;Jf 
a. 3>1 kw;Wk; 2   b. 3> 2 kw;Wk; 1  c. 1> 2 kw;Wk; 3 
d. 2> 1 kw;Wk; 3   e. tpil njhpatpy;iy 
 

32. Which of the following articles provide for the impeachment of the President? 
a. Art 52 and 61  b. Art 53 and 61  c. Articles 56(1)(b) and 61 
d. Article 58 and 61  e. Answer not known 
gpd;tUk; ve;j tpjpfs; FbauRj; jiytiug; gjtp ePf;fk; nra;a top tFf;fpd;wJ? 
a. tpjp 52 kw;Wk; 61 b. tpjp 53 kw;Wk; 61 c. tpjp 56(1)(b) kw;Wk; 61 
d. tpjp 58 kw;Wk; 61 e. tpil njhpatpy;iy 
 

33. Which Article enumerates Fundamental Duties in the Indian Constitution? 
a. Article 12-35  b. Article 51 A  c. Article 36-50 
d. Article 19   e. Answer not known 
,e;jpa murikg;gpy; ve;j tpjpfspy; mbg;gilf; flikfs; nfhLf;fg;gl;Ls;sd? 
a. tpjp 12 Kjy; 35 tiu  b. tpjp 51 A   c. tpjp 36 Kjy; 50 tiu 
d. tpjp 19    e. tpil njhpatpy;iy 
 

34. Article 5 of the Constitution of India deals with 
a. Nature of the Indian Parliamentary system  b. Formation of States 
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c. Inian Citizenship      d. Amendment procedures 
e. Answer not known 
,e;jpa murpay; mikg;G rl;lg;gphpT 5 vij ifahs;fpwJ? 
a. ,e;jpa ehlhSkd;w Kiwapd; jd;ik 
b. khepyq;fs; cUthf;Fk; Kiw 
c. ,e;jpaf; FbAhpik 
d. murikg;Gj; jpUj;j Kiw 
e. tpil njhpatpy;iy 
 

35. The enactment of Right to Information Act in India is supposed to inculcate a sense of 
a. Social Justice  b. Economic justice   c. Social inclusion 

d. Culture of informed citizenry e. Answer not known 
,e;jpahtpy; jfty; mwpAk; chpikr; rl;lj;jhy; kf;fsplk; cUthFk; vd 
vjph;ghh;f;fg;gl;l czh;T 
a. r%f ePjp    b. nghUshjhu ePjp  c. r%f cl;Nrh;f;if 
d. jftywpe;j FbAhpikg; gz;ghL e. tpil njhpatpy;iy 
 

36. Which of the following is called “Mini Constitution”? 
a. Government of India Act, 1935   b. 42nd Constitutional Amendment 

c. 44th Constitutional Amendment  d. Government of India Act, 1919 
e. Answer not known 
gpd;tUtdtw;wpy; vJ rpW murpayikg;G vd;W miof;fg;gLfpd;wJ? 
a. ,e;jpa muR rl;lk; 1935    b. 42tJ murpayikg;Gj; jpUj;jk; 
c. 44tJ murpayikg;Gj; jpUj;jk;   d. ,e;jpa muR rl;lk; 1919 
e. tpil njhpatpy;iy 
 

37. As per census – 2011, 54.6 percentage of labourers in India was engaged in ____ sector. 
a. Agricultural   b. Industrial   c. Service sector 
d. IT     e. Answer not known 
2011 Mz;bd; kf;fs; njhiff; fzf;nfLg;gpd;gb 54.6 rjtpfpj njhopyhsh;fs; ____ 
Jiwfs; rhh;e;Js;sdh;. 
a. tptrhak;    b. njhopy;   c. epWtd gzpahsh;fs; 
d. jfty; njhopy; El;gk;  e. tpil njhpatpy;iy 
 

38. 100 Days of Employment Programme is assured under 
a. Jawahar Rozgar Yojana 
b. National Rural Employment Guarantee Scheme 
c. Employment Assurance Scheme 
d. None 
e. Answer not known 
E}W ehs; Ntiytha;g;Gj; jpl;lk; _____ fPo; kjpg;gplg;gl;Ls;sJ. 
a. [t`h; Ntiytha;g;Gj; jpl;lk; 
b. Njrpa Cuf Ntiytha;g;G cj;jputhj jpl;lk; 
c. Ntiytha;g;G cj;jputhj jpl;lk; 
d. vJTk; ,y;iy 
e. tpil njhpatpy;iy 
 

39. Which of the following are associated with land reform measures? 
1. Abolition of intermediaries 
2. Tenancy legislation  
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3. HYV Seeds 
4. Ceiling on land holdings 
Select the correct answer using the codes given below: 
a. (1), (2) and (4) only  b. (1), (3) and (4) only  c. (2) and (4) only 
d. (1), (2), (3) and (4)   e. Answer not known 
fPo;f;fz;ltw;Ws; epyr; rPh;jpUj;j eltbf;iffNshL njhlh;Gilait vit? 
1. ,ilj; jufh;fis xopj;jy; 
2. epyf; Fj;jif rl;lk; 
3. mjpf kf#y; jUk; tpij tiffs; 
4. epy cr;r tuk;G 
fPNo nfhLf;fg;gl;Ls;sdtw;wpypUe;J rhpahdtw;iwj; Njh;e;njLf;fTk;: 
a. (1), (2) kw;Wk; (4) kl;Lk;    b. (1), (3) kw;Wk; 4 kl;Lk; 
c. (2) kw;Wk; (4) kl;Lk;    d. (1), (2), (3) kw;Wk; (4) 
e. tpil njhpatpy;iy 
 

40. _____ was the World’s First Country/s to implement the GST Law in the year 1954. 
(i) United States of America 
(ii) France 
(iii) Germany 
(iv) Italy 
a. (i) only   b. (i) and (ii) only   c. (ii) only 
d. (iii) only   e. Answer not known 
1954 k; Mz;by; ruf;F kw;Wk; Nrit thpr; rl;lj;ij mKy;gLj;jpa Kjy; ehL/fs; 
____ MFk;. 
(i) mnkhpf;f If;fpa khfhzq;fs; 
(ii) gpuhd;]; 
(iii) n[h;kdp 
(iv) ,j;jhyp 
a. (i) only   b. (i) and (ii) only   c. (ii) only 
d. (iii) only   e. tpil njhpatpy;iy 
 

41. Fiscal Reform Facility was introduced by the Central Government through which 
Finance Commission? 
a. IX  b. X  c. XI  d. XII  e. Answer not known 
kj;jpa murpd; %yk; mwpKfg;gLj;jg;gl;l “epjpr; rPh;jpUj;j trjp” ve;j epjpf; FOtpy; 
nfhz;Ltug;gl;lJ? 
a. IX  b. X  c. XI  d. XII  e. tpil njhpatpy;iy 
 

42. Expand NITI Aayog 
a. National Institution for Transforming India 
b. National Institution for Technology India 
c. National Indian Transforming Institute 
d. National Information Technology of India 
e. Answer not known 
NITI MNahf;if tphpTgLj;Jq;fs; 
a. khw;wj;ij Nehf;fpa ,e;jpahtpd; Njrpa epWtdk; 
b. njhopEl;g ,e;jpahtpw;fhd Njrpa epWtdk; 
c. ,e;jpa Njrpa cUkhw;w epWtdk; 
d. ,e;jpa Njrpa jfty; njhopy;El;gk; 
e. tpil njhpatpy;iy 
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43. In 1944, The Gandhian Plan was formulated by 

a. Mr. M.N. Rao  b. Sir. M. Visheshvraya c. Shri Sriman Narayan 
d. Pt. Jawaharlal Nehru e. Answer not known 
1944-y; “fhe;jpaj; jpl;lj;ij” cUthf;fpath; ahh;? 
a. Mr. M.N. uht;   b. rh;. M. tp];Nt];th;ah  c. = =kd; ehuhaz; 
d. gz;bl; [tfh;yhy; NeU  e. tpil njhpatpy;iy 
 

44. Who is popularly referred as ‘Dravidian Mao’? 
a. Perarignar C.N. Annadurai    b. Kalaignar M. Karunanidhi 
c. Dr. M.G. Ramachandiran    d. Shivaji Ganesan 
e. Answer not known 
‘jpuhtpl khNth’ vd mwpag;gLgth; ahh;? 
a. NguwpQh; rp.vd;. mz;zhJiu    b. fiyQh; K. fUzhepjp 
c. lhf;lh; vk;.[p. ,uhkr;re;jpud;    d. rpth[p fNzrd; 
e. tpil njhpatpy;iy 
 

45. When was Purna Swaraj declared? 
a. 26 January 1930   b. 15 August 1930  c. 26 November 1930 
d. 29 January 1930   e. Answer not known 
G+h;z ];tuh[; vg;NghJ mwptpf;fg;gl;lJ? 
a. 26 [dthp 1930   b. 15 Mf];l; 1930  c. 26 etk;gh; 1930 
d. 29 [dthp 1930   e. tpil njhpatpy;iy 
 

46. Which one of the following was India’s first Satyagraha Movement? 
a. Champaran Satyagraha     b. Dhandi March 
c. Vedaranyam Salt Satyagraha    d. Kheda Satyagraha 
e. Answer not known 
fPo;fhz;gtw;wpy; vJ ,e;jpahtpy; ele;j Kjy; rj;jpahfpuf ,af;fk;? 
a. rk;guhd; rj;jpahfpufk;     b. jz;b ahj;jpiu 
c. Ntjhuz;ak; cg;G rj;jpahfpufk;   d. Nflh rj;jpahfpufk; 
e. tpil njhpatpy;iy 
 

47. The Dandi March of Gandhi from Sabarmathi Ashram started on 
a. 12th March 1930   b. 12th March 1931  c. 12th February 1932 
d. 12th February 1933  e. Answer not known 
fhe;jpabfspd; jz;bahj;jpiu rgh;kjp Mrpukj;jpypUe;J vg;NghJ njhlq;fg;gl;lJ? 
a. khh;r; 12> 1930   b. khh;r; 12> 1931  c. gpg;uthp 12 1932 
d. gpg;uthp 12> 1933   e. tpil njhpatpy;iy 
 

48. For how many years did the Justice Party rule Tamilnadu? 
a. 15 yrs. b. 16 yrs. c. 13 yrs. d. 18 yrs. e. Answer not known 
jkpo; ehl;by; ePjpf;fl;rp vj;jid Mz;Lfs; Ml;rp nra;jJ? 
a. 15 Mz;Lfs;   b. 16 Mz;Lfs;  c. 13 Mz;Lfs; 
d. 18 Mz;Lfs;   e. tpil njhpatpy;iy 
 

49. E.V. Ramasamy led an agitation in 1924 at Vaikom for 
a. the liberty of women    
b. the attainment of India’s Independence 
c. the eradication of illiteracy   
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d. the entry of Ezhavas to the sanctum sanctorum of the temple 
e. Answer not known 
<.nt. ,uhkrhkp 1924k; Mz;L itf;fk; vDk; ,lj;jpy; vjw;fhfg; Nghuhl;lk; 
Nkw;nfhz;lhh;? 
a. ngz;fs; tpLjiyf;fhf    
b. ,e;jpar; Rje;jpuj;ij miltjw;F 
c. fy;tpawptpd;ikia xopg;gjw;F  
d. Nfhtpy; fUtiwf;Fs; <oth;fis mDkjpf;f 
e. tpil njhpatpy;iy 
 

50. Who was responsible for the establishment of the Asiatic society of Bengal in 1784? 
a. William Jones  b. Macaulay   c. George Thomson 
d. G.V. Joshi   e. Answer not known 
1784-Mk; Mz;L ‘tq;fhs Mrpar; rq;fk;’ epWt fhuzkhdth; ahh;? 
a. tpy;ypak; N[hd;]; b. nkf;fhNy   c. [hh;[; jhk;]d; 
d. [p.tp. N[h~;  e. tpil njhpatpy;iy 
 

51. Which of the following place was not a port town during the Sangam period? 
a. Puhar   b. Korkai   c. Thondi 
d. Uraiyur   e. Answer not known 
gpd;tUk; JiwKfq;fspy; rq;ffhy JiwKfkpy;yhj efuk; vJ? 
a. Gfhh;   b. nfhw;if   c. njhz;b 
d. ciwA+h;   e. tpil njhpatpy;iy 
 

52. Who use the word “Irai” to indicate the king? 
a. Thiruvalluvar  b. Kambar   c. Ilango Adigal 
d. Seethalai Sattanar  e. Answer not known 
kd;did> ‘,iw’ vd;W Fwpf;Fk; thh;j;ijiag; gad;gLj;jpath; ahh;? 
a. jpUts;Sth;  b. fk;gh;   c. ,sq;Nfhtbfs; 
d. rPj;jiyrhj;jdhh;  e. tpil njhpatpy;iy 
 

53. Non-Co-operation movement in Tamil Nadu was led by 
a. V.O. Chidambaran b. Rajaji   c. Subramaniya Siva 
d. Subbarayan  e. Answer not known 
jkpo;ehl;by; xj;Jioahik ,af;fj;jpw;F jiyik jhq;fp elj;jpath; 
a. V.O. rpjk;guk;  b. uh[h[p   c. Rg;gpukzpa rpth 
d. Rg;ghuhad;   e. tpil njhpatpy;iy 
 

54. When Gandhiji visited Tamil Nadu in 1927, Dr. Muthulakshmi Reddy met Gandhi and 
discussed about her ‘Social Welfare Schemes’. Those were published by Gandhiji in 
which magazine? 
a. Anandha Vikatan   b. Desabhimani  c. Young India 

d. Swadeshamithran  e. Answer not known 
1927-Mk; Mz;L fhe;jpabfs; jkpofj;jpw;F tUif Ghpe;j nghOJ kUj;Jth; 
Kj;Jnyl;Rkp nul;b mth;fs; fhe;jpabfis re;jpj;J> jdJ r%f eyj;jpl;lq;fs; gw;wp 
fye;Jiuahbdhh;. ,J gw;wpa tpguj;ij fhe;jpabfs; ve;j gj;jphpf;ifapy; ntspapl;lhh;? 
a. Mde;j tpfld;    b. Njr mgpkhdp  c. aq; ,e;jpah 
d. RNjrkpj;ud;   e. tpil njhpatpy;iy 
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55. According to the Montague-Chelmsford Reforms Act, when did the first direct election 
held in the Madras Presidency? 
a. 1919 b. 1920 c. 1921  d. 1922 e. Answer not known 
khz;NlF nrk;];Nghh;l; rPh;jpUj;j rl;lj;jpd;gb> nkl;uh]; khfhzj;jpy; Kjy; Neub 
Njh;jy; eilngw;w Mz;L 
a. 1919 b. 1920 c. 1921  d. 1922 e. tpil njhpatpy;iy 
 

56. Who was the first Non-Congress Chief Minister of Tamil Nadu? 
a. K. Kamarajar  b. E.V.K. Sampath  c. Kalaignar M. Karunanidhi 
d. C.N. Annadurai  e. Answer not known 
jkpo;ehl;by; fhq;fpu]; fl;rpiar; rhuhj Kjy; Kjyikr;rh; ahh;? 
a. f. fhkuhrh;  b. <.nt.fp. rk;gj;  c. fiyQh; K. fUzhepjp 
d. rp.vd;. mz;zhJiu e. tpil njhpatpy;iy 
 

57. When did E.V. Ramaswamy Periyar start Self Respect Movement? 
a. 1920 b. 1924 c. 1926  d. 1944 e. Answer not known 
vg;NghJ <.nt. ,uhk];thkp nghpahh; Rakhpahij ,af;fj;jpidj; njhlq;fpdhh;? 
a. 1920 b. 1924 c. 1926  d. 1944 e. tpil njhpatpy;iy 
 

58. “Thiranarinthu Solluga Sollai Aranum 
Porulum Athaninoongu ill”. 
Under which section of Thirukkural does this Kural appear? 
a. Panpudaimai   b. Vinai Seyal Vagai   c. Solvanmai 

d. Vinaithooimai   e. Answer not known 
“jpwdwpe;J nrhy;Yf nrhy;iy mwDk; 
nghUSk; mjdpD}cq;F ,y;” 
vd;w Fws; ,lk; ngw;Ws;s mjpfhuk; vJ? 
a. gz;Gilik   b. tpid nray; tif  c. nrhy;td;ik 
d. tpidj; J}a;ik   e. tpil njhpatpy;iy 
 

59. What adds beauty to the well-run government of a country according to Thirukkural? 
a. Mountain and waterfall   b. Neutral mediators and merchant 
c. Wealth and yield    d. Without enmity and without disease 
e. Answer not known 
xU ey;y ehl;bw;F moF vJntdj; jpUts;Sth; $Wfpwhh;? 
a. kiyAk;> mUtpAk;    b. eLepiyahsUk;> tzpfUk; 
c. nry;tKk;> tpisr;rYk;    d. gifapd;ikAk; gpzpapd;ikAk; 
e. tpil njhpatpy;iy 
 

60. Find out he appropriate Thirukkural for the Assertion given below. 
“Trees are selfless and live for others 
But the harms that human do to them…! 
They pull them, pluck them, bend, break and 
Cripple them and destroy them cutting their roots 
completely. But, the lesson that the trees teach these 
humans is the greatest and incomparable. 
a. Inna Seidharai Oruththal Avar nana 

Nannayam Seiduvidal 
 

b. Mannodu Iyaindha Marathanayar Kannodu 
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Iyaindukan Oda davar 
 

c. Theeyinaal Suttapun Ullarum Aaradhe 
Navinal Sutta Vadu 
 

d. Yagavarayinum Nakakka Kavakkal 
Sogappar Sollizhukku Pattu 
 

e. Answer not known 
gpd;tUk; $w;Wf;F nghUj;jkhd Fwis vOJf. 
 
kuq;fs; jkf;fhf thohJ gpwh;f;fhfNt tho;fpd;wd. 
,e;j [Ptd;fSf;F kdpjh;fs; nra;Ak; nfhLik ….!? 
,Oj;Jk;> gwpj;Jk;> ntl;bAk;> tisj;Jk;> cilj;Jk; 
Klkhf;fptpLfpwhh;fs;> mbNahL ntl;b mopj;Nj 
tpLfpwhh;fNs. ,g;gbf; nfhLik nra;Ak; kdpjh;fSf;F  
jhtuq;fs; Gfl;Lk; ghlk;> xg;gw;w cah;e;j ghlk;.. 
 
a. ,d;dhnra; jhiu xWj;jy; mth;ehz 
      ed;dak; nra;J tply; 
 
b. kz;NzhL ,iae;j kuj;jidah; fz;NzhL 
  ,iae;Jfz; Xlh jth; 
 
c. jPapdhy; Rl;l Gz; cs;MWk; MwhNj 
   ehtpdhy; Rl;l tL 
 
d. ahfhth uhapDk; ehfhf;f: fhthf;fhy; 
      Nrhfhg;gh; nrhy;ypOf;fg; gl;L 
e. tpil njhpatpy;iy 

 
61. This was the first Tamil Text translated by G.U. Pope? 

a. Thiruvasagam   b. Purananooru  c. Thirukkural 

d. Naaladiyaar   e. Answer not known 
[p.A. Nghg; Mq;fpyj;jpy; nkhopngah;j;j Kjy; jkpo; E}y; ,J. 
a. jpUthrfk;   b. GwehD}W   c. jpUf;Fws; 
d. ehybahh;   e. tpil njhpatpy;iy 
 

62. Who is the author of the historical novel “Ratham Ore Niram”? 
a. Sandilyan    b. Kovi. Manisekaran c. Sujatha 
d. Kalki. R. Krishnamoorthy e. Answer not known 
‘uj;jk; xNu epwk;’ vd;Dk; tuyhw;Wg; Gjpdj;ij vOjpath; ahh;? 
a. rhz;by;ad;   b. Nfhtp. kzpNrfud; c. R[hjh 
d. fy;fp. uh. fpU~;z%h;j;jp e. tpil njhpatpy;iy 
 

63. ‘Bhakthi Movement’ was transformed into a ‘mass movement’ by 
a. Thirunavukkarasar    b. Thirugnanasambandar 

c. Sundarar      d. Manickavasagar 
e. Answer not known 
gf;jp ,af;fk; ‘kf;fs; ,af;fkhf’ ,tuhy; Mf;fg;gl;lJ 
a. jpUehTf;furh;   b. jpUQhdrk;ge;jh;  c. Re;juh; 
d. khzpf;fthrfh;   e. tpil njhpatpy;iy 
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64. Who sang : “Oruvanai Oruvan aduthalum Tholaithalum 

Pudhuvathu andru ivvulagathu iyarkai” 
a. Idaikundroorkilaar  b. Perumchithranaar c. Nalluruthiran 
d. Ilanaganaar   e. Answer not known 
“xUtid xUtd; mLjYk; njhiyjYk; 
GJtJ md;W ,t;Tyfj;J ,aw;if” – ghbath; ahh;? 
a. ,ilf;Fd;W}h;f;fpohh;  b. ngUQ;rpj;jpudhh;  c. ey;YUj;jpud; 
d. ,sehfdhh;   e. tpil njhpatpy;iy 
 

65. Which of the following statements are true about Love-Flag of Srivaikunda Swamigal? 
(i) Vaikunda Swamigal was a reformer of Islam 
(ii) He called his followers as “Anbukodimakkal” 
(iii) The followers of Swamigal even now hoist the love – flag 
a. (i) only   b. (i) and (ii) only  c. (i) and (iii) only 
d. (ii) and (iii) only  e. Answer not known 
fPo;f;fhZk; $w;Wfspy; =itFz;l Rthkpfspd; md;Gf;nfhb gw;wpa rhpahd jfty;fs; 
vit? 
(i) itFz;l Rthkpfs; Xh; ,];yhkpa rPh;jpUj;jthjp 
(ii) mth; jd;id gpd;gw;wpath;fis “md;Gf; nfhb kf;fs;” vd;W mioj;jhh;. 
(iii) Rthkpfisg; gpd;gw;Wgth;fs; ,d;wsTk; md;Gf; nfhbia Vw;Wfpd;wdh;. 
a. (i) kl;Lk;   b. (i) kw;Wk; (ii) kl;Lk;  c. (i) kw;Wk; (iii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 
 

66. Tamil Virtual University (TVU) was renamed in the year 2010 as 
a. Tamil Virtual Education    b. Tamil Virtual Universe 
c. Tamil Virtual Literacy    d. Tamil Virtual Academy 

e. Answer not known 
jkpo; nka; epfh; gy;fiyf;fofk; (TVU) 2010k; Mz;by; vt;thW ngah; khw;wk; 
nra;ag;gl;lJ? 
a. jkpo; nka;epfh; fy;tp    b. jkpo; ,izag; Nguz;lk; 
c. jkpo; nka;epfh; vOj;jwpT   d. jkpo; ,izaf; fy;tpf; fofk; 
e. tpil njhpatpy;iy 
 

67. _____ State is the largest producer of wind energy in India as per 2021 statistics. 
a. Tamil Nadu  b. Kerala   c. Karnataka 
d. Gujarat   e. Answer not known 
2021 Mk; Mz;L fzf;fpd;gb> ,e;jpahtpy; ____ khepyk; mjpfkhd fhw;whiy kpd;rhuk; 
cw;gj;jp nra;fpwJ. 
a. jkpo;ehL   b. Nfush   c. fh;ehlfh 
d. F[uhj;   e. tpil njhpatpy;iy 
 

68. The level of total food grains production in Tamil Nadu during 2021-22 was 
a. 125 (Lakh metric tonnes)    b. 150 (Lakh metric tonnes) 
c. 160 (Lakh metric tonnes)     d. 110 (Lakh metric tonnes) 
e. Answer not known 
2021-22Mk; Mz;by; jkpofj;jpd; nkhj;j czT cw;gj;jpapd; msT 
a. 125 (,yl;rk; nkl;hpf; ld;)    b. 150 (,yl;rk; nkl;hpf; ld;) 
c. 160 (,yl;rk; nkl;hpf; ld;)    d. 110 (,yl;rk; nkl;hpf; ld;) 
e. tpil njhpatpy;iy 
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69. What is the objective/objective of “Exclusive Budget for Agriculture” 

(i) To encourage farming as an enterprising and remunerative activity  
(ii) To increase the welfare of farmers in Tamil Nadu 
(iii) To curb the mechanisation in Agriculture 
a. (i) only   b. (ii) and (iii) only  c. (i) and (ii) only 
d. (i) and (iii) only  e. Answer not known 
Ntshz;ikf;fhd gpuj;jpNaf tuT nryT jpl;lj;jpd; Fwpf;Nfhs;/Fwpf;Nfhs;fs; 
vd;d/vit? 
(i) Ntshz;ikia ,yhgfukhd njhopyhf Cf;Ftpg;gJ 
(ii) jkpo;ehl;by; tptrhapfspd; eyid cah;j;JtJ 
(iii) Ntshz;ikapy; ,ae;jpu kakhf;fiyf; fl;Lg;gLj;JtJ 
a. (i) kl;Lk;   b. (ii) kw;Wk; (iii) kl;Lk;  c. (i) kw;Wk; (ii) kl;Lk; 
d. (i) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 
 

70. NFHS-5, 2019-21 Indian Report says, that Birth weight of a child less than 2.5 kg 
regardless of gestational age is called 
a. High Birth weight b. Moderate birth weight  c. Standard Birth weight 
d. Low birth weight e. Answer not known 
nghUl;gLj;jhky;> 2.5 fpNyhtpw;Fk; Fiwthfg; gpwf;Fk; Foe;ij _____ vd 
miof;fg;gLfpwJ. 
a. mjpf gpwg;G vil  b. kpjkhd gpwg;G vil  c. epiyahd gpwg;G vil 
d. Fiwe;j gpwg;G vil e. tpil njhpatpy;iy 
 

71. Social Justice day celebration in Tamil Nadu on 
a. 20 February   b. 21 February  c. 22 February  
d. 25 February   e. Answer not known 
jkpofj;jpy; r%f ePjp ehs; nfhz;lhlg;gLtJ. 
a. 20 gpg;uthp    b. 21 gpg;uthp   c. 22 gpg;uth 
d. 25 gpg;uthp    e. tpil njhpatpy;iy 
 

72. ____ protection scheme is aimed at preventing gender discrimination by empowering 
and protecting right of girl children through direct investment from government. 
a. Cradle baby  b. Girl child literary  c. Beti Bachao Beti Padhao 
d. Girl Child   e. Answer not known 
_____ ghJfhg;Gj; jpl;lk;> murpd; Neub KjyPl;bd; %yk;> ngz; Foe;ijfspd; 
chpikfisg; ghJfhj;J> mth;fSf;F mjpfhukspg;gjd; topahfg; ghypdg; ghFghl;ilj; 
jLg;gij Nehf;fkhff; nfhz;Ls;sJ. 
a. njhl;by; Foe;ij     b. ngz; Foe;ijfspd; fy;tpawpT 
c. Ngl;b gr;rhNth Ngl;b gjhNth   d. ngz; Foe;ij 
e. tpil njhpatpy;iy 
 

73. According to 2011 census the following district possess highest literacy rate in Tamil 
Nadu. 
a. Namakkal   b. Coimbatore  c. Kanniyakumari 
d. Tripur   e. Answer not known 
,tw;Ws; ve;j khtl;lk; jkpo;ehl;by; kpf mjpfkhd fy;tp tpfpjj;ijf; nfhz;Ls;sJ? 
a. ehkf;fy;   b. NfhaKj;J}h;  c. fd;dpahFkhp 
d. jpUg;G+h;   e. tpil njhpatpy;iy 
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74. Jawahar Rozgar Yojna programme was announced in the year 
a. 1966 b. 1989 c. 1991  d. 1996 e. Answer not known 
[t`h; Nuh[;fh; Nah[dh jpl;lk;> _____ Mk; Mz;by; mwptpf;fg;gl;lJ. 
a. 1966 b. 1989 c. 1991  d. 1996 e. tpil njhpatpy;iy 
 

75. Which district lags behind according to the Human Welfare and Development Index? 
a. Ariyalur   b. Perambalur  c. Villupuram 
d. Theni   e. Answer not known 
kdpj ts Nkk;ghl;Lf; FwpaPl;by; jkpo;ehl;by; ve;j khtl;lk; kpfTk; gpd;jq;fpAs;sJ? 
a. mhpaY}h;   b. nguk;gY}h;   c. tpOg;Guk; 
d. Njdp   e. tpil njhpatpy;iy 
 

76. Calculate the Simple Interest at 8% rate of interest, one year and 6 months period, for 
the amount Rs. 7,500. 
a. Rs. 600    b. Rs. 900   c. Rs. 1,800 
d. Rs. 8,400    e. Answer not known 
&. 7>500-f;F 8% tl;btPjj;jpy;> xU tUlk; 6 khjq;fSf;fhd jdptl;b vt;tsT? 
a. &. 600    b. &. 900   c. &. 1>800 
d. &. 8>400    e. tpil njhpatpy;iy 
 

77. A certain amount of money when invested on a simple interest basis double in 8 years, 
what is the % rate of interest? 
a. 10%  b. 11.5% c. 12%  d. 12.5% e. Answer not known 
xU Fwpg;gpl;l njhifahdJ 8 Mz;Lfspy; ,Uklq;fhFk; vDk; kjpg;gPl;by; KjyPL 
nra;ag;gl;lhy; fpilf;Fk; jdptl;bf;fhd rjtPjk; vt;tsT? 
a. 10%  b. 11.5% c. 12%  d. 12.5% e. tpil njhpatpy;iy 
 

78. What principal will yield Rs. 60 as simple interest at 6% p.a. in 5 years? 
a. Rs. 800 b. Rs. 600 c. Rs. 400 d. Rs. 200  e. Answer not known 
Mz;Lf;F 6% tl;b tPjk; 5 Mz;Lfspy; jdptl;b &. 60 ngWtjw;fhd mry; vd;d? 

a. &. 800 b. &. 600 c. &. 400 d. &. 200  e. tpil njhpatpy;iy 
 

79. Calculate the rate of interest when we get Rs. 1,680 as a simple interest for the principal 
amount Rs. 7,000 in 16 months. 

a. 
3

14
%  b. 1.5% c. 18%  d. 32%  e. Answer not known 

&. 7>000 mrYf;F 16 khjq;fspy; &. 1>680 jdptl;b fpilj;jhy; tl;b tPjj;ijf; 
fz;Lgpb. 

a. 
3

14
%  b. 1.5% c. 18%  d. 32%  e. tpil njhpatpy;iy 

 
80. What is the time 100 hours after 7 a.m.? 

a. (7 O’Cock) (ie) 7 a.m.  b. 4 a.m.   c. 3 a.m. 
d. 11 a.m.    e. Answer not known 
Kw;gfy; 7 kzpf;F 100 kzp Neuj;jpw;Fg; gpwF Neuk; vd;d? 
a. (7 O’Cock) (ie) 7 a.m.  b. 4 a.m.   c. 3 a.m. 
d. 11 a.m.    e. tpil njhpatpy;iy 
 

81. Moni is daughter of Sheela . Sheela is wife of my wife’s brother. How Moni is related to 
my wife? 
a. Cousin    b. Niece   c. Sister 
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d. Sister-in-law   e. Answer not known 
Nkhdp ~Pyhtpd; kfd;. ~Pyh vd; kidtpapd; rNfhjudpd; kidtp. Nkhdp vd; 
kidtpf;F vg;gb cwT? 
a. cwtpdh;    b. kUkfs;   c. rNfhjhp 
d. ikj;Jdp    e. tpil njhpatpy;iy 
 

82. Find the difference between S.I and C.I for Rs. 12,000 at r = 8% for 3 years. 
a. Rs. 236.54   b. Rs. 336.54   c. Rs. 226.54 
d. Rs. 326.54   e. Answer not known 
mry; &. 12>000-f;F 3 Mz;LfSf;F r = 8% vd> jdp tl;bf;Fk;> $l;L tl;bf;Fk; cs;s 
tpj;jpahrk; fhz;f. 
a. &. 236.54   b. &. 336.54   c. &. 226.54 
d. &. 326.54   e. tpil njhpatpy;iy 
 

83. The length of a rectangular Park is 14 m more than its breadth. If the perimeter of the 
park is 200 m, what is its length? Find the area of the park. 
a. 75 m, 3225 m2  b. 57 m, 2451 m2  c. 34 m, 1938 m2 
d. 43 m, 2550 m2  e. Answer not known 
xU nrt;tf tbt G+q;fhtpd; ePsk;> mfyj;ij tpl 14 kP mjpfkhf cs;sJ. G+q;fhtpd; 
Rw;wsT 200 kP vdpy; ePsk; kw;Wk; gug;gsT fhz;f. 
a. 75 m, 3225 m2  b. 57 m, 2451 m2  c. 34 m, 1938 m2 
d. 43 m, 2550 m2  e. tpil njhpatpy;iy 
 

84. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm. 
Find the volume of the frustum? 
a. 48510 cu. units  b. 48410 cu. units  c. 47510 cu. units  
d. 46510 cu. units  e. Answer not known 
45 cm cauKs;s Xh; ,ilfz;lj;jpd; ,U Gw Muq;fs;; KiwNa 28 cm kw;Wk; 7 cm 
vdpy; ,ilfz;lj;jpd; fd msT vd;d? 
a. 48510 f. myFfs;  b. 48410 f. myFfs; c. 47510 f. myFfs; 
d. 46510 f. myFfs;  e. tpil njhpatpy;iy 
 

85. The length and breadth of a window are in 1 m and 70 cm respectively. The ratio of the 
length to the breadth is  
a. 1 : 7  b.  7 : 1 c. 7 : 10 d. 10 : 7 e. Answer not known 
rd;dypd; ePs mfyq;fs; KiwNa 1 m kw;Wk; 70 cm MFk;. ePs> mfyq;fspd; tpfpjk; 
fhz;f. 
a. 1 : 7  b.  7 : 1 c. 7 : 10 d. 10 : 7 e. tpil njhpatpy;iy 
 

86. There is a circular path around a sports field. Sonia takes 18 minutes to drive on round 
of the field, while Ravi takes 12 minutes for the same. Suppose the both start at the 
same point and at the same time, and go in the same direction, after how many minutes 
will they meet again at the starting point? 
a. 20 min b. 28 min c. 36 min d. 48 min e. Answer not known 
xU tpisahl;L ikjhdj;ij Rw;wp xU tl;lg; ghij cs;sJ. ,t;tl;lg; ghijia 
Rw;w Nrhdpah-tpw;F 18 epkplq;fSk;> ,utpf;F 12 epkplq;fSk; MFk;. mth;fs; ,UtUk; 
mt;tl;lg; ghijapy; xNu ,lj;jpypUe;J> xNu Neuj;jpy;> xNu jpirapy; gazpg;ghh;fs; 
vdpy; mth;fs; kPz;Lk; njhlq;fpa ,lj;jpy; re;jpj;Jf; nfhs;s vt;tsT Neuk; gazpf;f 
Ntz;Lk;? 
a. 20 epkplk;    b. 28 epkplk;   c. 36 epkplk; 
d. 48 epkplk;    e. tpil njhpatpy;iy 
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87. Find the next two terms of the sequence 5, 10, 26, 50, …. 

a. 65, 82   b. 82, 100   c. 100, 122 
d. 122, 170   e. Answer not known 
5, 10, 26, 50, …. vd;w njhlhpy; mLj;j ,uz;L cWg;Gfs; ahJ? 
a. 65, 82   b. 82, 100   c. 100, 122 
d. 122, 170   e. tpil njhpatpy;iy 
 

88. The next term in 1,2,5,-2,9,-6,13, is 
a. 17  b. -8  c. -10  d. 21  e. Answer not known 
1,2,5,-2,9,-6,13, vd;w njhlhpd; mLj;j cWg;G 
a. 17  b. -8  c. -10  d. 21  e. tpil njhpatpy;iy 
 

89. Find the sum of first 40 terms in the series 1,3,5,… 
a. 1640 b. 1600 c. 800  d. 400  e. Answer not known 
1,3,5,… vd;w njhlhpy; Kjy; 40 cWg;Gfspd; $Ljy; fhz;f. 
a. 1640 b. 1600 c. 800  d. 400  e. tpil njhpatpy;iy 
 

90. 71,59,48,38,29, ____ 
a. 16  b. 28  c. 21  d. 35  e. Answer not known 
71,59,48,38,29 
a. 16  b. 28  c. 21  d. 35  e. tpil njhpatpy;iy 
 

91. The GCD and LCM of two polynomials are x+1 and x6 – 1 respectively. If one of the 
polynomials is x3 +1 find the other one. 
a. (x3 - 1)(x -1)  b. (x3 - 1)(x + 1)  c. (x3 + 1)(x + 1) 
d. (x3 + 1)(x - 1)  e. Answer not known 
,uz;L gy;YWg;Gf; Nfhitfspd; kP.ngh.t. KiwNa x+1 kw;Wk; x6–1. NkYk; xU 
gy;YWg;Gf; Nfhit x3+1 vdpy; kw;nwhU gy;YWg;Gf; Nfhitiaf; fhz;f. 
a. (x3 - 1)(x -1)  b. (x3 - 1)(x + 1)  c. (x3 + 1)(x + 1) 
d. (x3 + 1)(x - 1)  e. tpil njhpatpy;iy 
 

92. What is the greatest number that will divide 62, 78 and 109 leaving remainders 2, 3 and 
4 respectively? 
a. 12  b. 20  c. 15  d. 18  e. Answer not known 
62> 78 kw;Wk; 109I tFj;J KiwNa 2> 3 kw;Wk; 4 I kPjpfshff; nfhLf;Fk; kPg;ngU 
nghJf; fhuzp vd;d? 
a. 12  b. 20  c. 15  d. 18  e. tpil njhpatpy;iy 
 

93. Study the following letter-number sequence and answer the question given below: 
E7GBM4NKH2ACZSV3FIJLOQ5PR 
If every third letter/number starting from the right replaces successive days of the 
week starting from Monday, which letter will replace Thursday? 
a. A  b. S  c. F  d. Z  e. Answer not known 
vOj;J – vz; thpiriag; gbj;J fPNo nfhLf;fg;gl;Ls;s Nfs;tpf;F gjpyspf;fTk;. 
E7GBM4NKH2ACZSV3FIJLOQ5PR tyJ Gwj;jpy; njhlq;fp xt;nthU %d;whtJ 
vOj;J/vz; jpq;fs; fpoik Kjy; thuj;jpd; mLj;j ehl;fis khw;wpdhy;> ve;j vOj;J 
tpahof;fpoikia khw;Wk; 
a. A  b. S  c. F  d. Z  e. tpil njhpatpy;iy 
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94. If the word PHONE is coded as SKRQH; How will RADIO be coded? 

a. SCGNH   b. VRGNG   c. UDGLR 
d. SDHKQ   e. Answer not known 
PHONE vd;w nrhy; “SKRQH” vd Fwpaplg;gl;lhy;> “RADIO” vd;w nrhy; vt;thW 
Fwpaplg;gLk;? 
a. SCGNH   b. VRGNG   c. UDGLR 
d. SDHKQ   e. tpil njhpatpy;iy 
 

95. A gets double of what B gets and B gets double of what C gets. Find the ratio of B : C? 
a. 1 : 2  b. 2 : 1  c. 1 : 1  d. 4 : 1  e. Answer not known 
B ngWtJ Nghy; ,Uklq;F A ngWfpwhh;. C ngWtJ Nghy; ,Uklq;F B ngWfpwhh;. vdpy; B 
: C -apd; tpfpjj;ijf; fhz;f. 
a. 1 : 2  b. 2 : 1  c. 1 : 1  d. 4 : 1  e. tpil njhpatpy;iy 
 

96. Which is not an equivalent ration of 
16

24
. 

a. 
6

9
  b. 

12

18
  c. 

10

15
  d. 

𝟐𝟎

𝟐𝟖
  e. Answer not known 

16

24
 ,f;F vJ rkhd tpfpjk; my;y? 

a. 
6

9
  b. 

12

18
  c. 

10

15
  d. 

𝟐𝟎

𝟐𝟖
  e. tpil njhpatpy;iy 

 
97. A can do a work in 24 days. If A and B together can finish the work in 6 days. B alone 

can finish the work in how many days? 
a. 6 days   b. 8 days   c. 12 days 
d. 18 days   e. Answer not known 
vd;gth; xU Ntiyia 24 ehs;fspy; Kbg;ghh;. A kw;Wk; B MfpNahh; xd;whf ,ize;J 
xU Ntiyia 6 ehs;fspy; Kbg;gh; vdpy; B vd;gth; jdpNa me;j Ntiyia vj;jid 
ehs;fspy; Kbg;ghh;? 
a. 6 ehs;fs;   b. 8 ehs;fs;   c. 12 ehs;fs; 
d. 18 ehs;fs;  e. tpil njhpatpy;iy 
 

98. X, Y and Z can do a piece of job in 4, 6 and 10 days respectively. If X, Y and Z work 
together to complete, then find their separate shares if they will be paid Rs. 31,000 for 
completing the job. 
a. X = 6,000; Y = 15,000; Z = 1,000   b. X = 10,000; Y = 15,000; Z = 6,000 
c. X = 9,000; Y = 16,000; Z = 6,000   d. X = 15,000; Y = 10,000; Z = 6,000 
e. Answer not known 
X, Y kw;Wk; Z MfpNahh; xU Ntiyia KiwNa 4> 6 kw;Wk; 10 ehl;fspy; Kbg;gh;. X, Y 
kw;Wk; Z Mfpa %tUk; xd;W Nrh;e;J me;j Ntiyia Kbj;jhy; mth;fSf;F &. 31>000 
toq;fg;gLk; vdpy;> mth;fs; jdpj;jdpNag; ngWk; gq;Ffisf; fhz;f. 
a. X = 6,000; Y = 15,000; Z = 1,000   b. X = 10,000; Y = 15,000; Z = 6,000 
c. X = 9,000; Y = 16,000; Z = 6,000   d. X = 15,000; Y = 10,000; Z = 6,000 
e. tpil njhpatpy;iy 
 

99. If x = 1, y = 2, z = 3 then x3 + y3 – z3 + 3xyz is 
a. x + y – 2   b. x + y + z    c. x + y 
d. -36    e. Answer not known 
x = 1, y = 2, z = 3 vdpy; x3 + y3 – z3 + 3xyz  d; kjpg;G 
a. x + y – 2   b. x + y + z    c. x + y 
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d. -36    e. tpil njhpatpy;iy 
 

100. 0.07% is 

a. 
7

10
  b. 

7

100
  c. 

7

1000
  d. 

𝟕

𝟏𝟎,𝟎𝟎𝟎
  e. Answer not known 

0.07% vd;gJ 

a. 
7

10
  b. 

7

100
  c. 

7

1000
  d. 

𝟕

𝟏𝟎,𝟎𝟎𝟎
  e. tpil njhpatpy;iy 


